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ok 1% 4 AB = AC = CD & o, 2x - 2y ] 2718 Fsfolel.

(DCE = 3/ABC

/x = 3 % 36° = 108°

AB = ACQl o]5H 4Ztgo|B=2 1y = /ABC = 36°
Lo /x— Ly = 108° - 36° = 72°




3. Had"o o ger &2 A2

@® 30° @ 40° 3)50° @ 60° ® 70°

chre o] oj7te) ghe 360° oz,
/x+30°+70°+60°+80°+70°=360° °oJtt.
whahA] zx = 360°-30°—-70°-60°—-80°—70° = 50° ©|c}.




4. o5 IHNA B+ LC+ D+ B+ F + LG O] 3127

@ 400° @440° ® 540° @ 6000  © 720°

27y o] W Z+o] k-2 540° o|tt,
w2tA zA + /B + £C + /D + (E + /F + /G = 540° 0| B2
(B + /C+ /D + (E + /F + £G = 440° ©]t},
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a=10

=35

Sa+b=10+35=45
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8. TS oA sx o 7|7

@® 115° @ 110° ® 210° @2150 ® 250°

~&B

Azt o] yzhe] 3719 -2 180° o] B =

AABC 94 /A + /ABP + /PBC + /PCB + /ACP = 180°
£80° + £35° + /PBC + (PCB + £30° = 180°

/PBC + /PCB = 180° — 145° = 35° o|t}.

APBC A /PBC + /PCB + /BPC = 180°

/PBC + /PCB = 35°

35° + /BPC = 180°

/BPC = 180° — 35° = 145° 0|2 &

x = 360° — 145° = 215° o]t}
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@) DAE. /EAC, /DAC

® /DAC, /EAD, /CAD
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(DAE, /EAC, /DAC
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@® 20° @ 22° ® 24° @ 26° (5))28°

B \

AABC ©f|A 56° + 2/PBC = 2/PCE
ABPC oA

(PCE = /PBC + /x

56° + 2/PBC = 2/PBC + 2/x

56° = 2/x

o /Lx = 28°




11. o= J™-eA 2x 9 27]1E 517

A g5
AWt
35 X\
B 300 C

@© 40° @ 60° ® 80° @D)lOOO ® 120°

~&B

/ADE = ADBC 9] &]Zo]ln g
(ADE = 35° + 30° = 65°

/x = AAED 9] 9jZtolB 2

/x = 35° + 65° = 100° ©]t}.




12. ohe I3 22 A2 ABCD 4] /B €} /D 9] o] 52 A0l wH
O =t & of, zx o] A7]=7

o

O 110° @ 120° @ 130° @ 140° (@)150°

€8 ~
gABCD |4 130° + 70° + 22.ADO + 2/ABO = 360° |22
/ABO + /ADO = 80° o]t}
T35 0ABOD ©f|A] 130° 4 £ABO + £ADO + £x = 360° °|BL&
/x = 150° o]t}
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14.

U5 182 AABC 9 H C & SHL
90° 1FAIR Aol ARt FZ O] ol

£ Tstofet.

AABC & ADEC = ©|FA|Z|H Fot= Hols
(F3E ACD W ol+aABC H©l)
- (##1& FCE % °]+aCED 4°J)
= FA& ACD Hol- A& FCE Yol
o (AR HEO] Ho])
1

1 4
:7r><102><1—7rx32><6 :;n(ch)




15. o= Z™0lA wx 9] 27|15 Fsteiet

[7o°

75°

80°

o

Lx ) 917te] A7)E
360° — (70° + 75° + 80° + 70°) = 65°
. /x = 180° — 65° = 115°
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17. o2 oA ¥ AB = 9 0 2] A|20]311 AF // OD ©|H, 3.DOC =
2,0DC ©|t}. E 5.0ptAE 7t 9 0 o] 9= é o uf, 5.0ptAE 9]

0] 5.0ptBD © Zole] 9 ujeln] F5}olet.

F

> F=HE 498

~&B «

(DOC = x 2t & ujj, AF//OD o|B&,

L{OAF = /OFA = /DOF = x ("""~ AOAF 7} o] GHAZ4,
A7}, 5917)

3 3
ZODC = §ZDOC = 5)6

~ 1
5.0ptAE 7} ¥F2 3 olnz /AOE = 120°

120° + (180° — 2x) + x + (180° — 3x) = 360°
s x=30°

VS VN /N
5.0ptAE : 5.0ptBD = 120° : 30° = 4 : 1 O] 2 5.0ptAE 9
Zo]= 5.0ptBD 2] Zo]2] 4 Hjo]t}.
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217 cm?
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360°
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9cm, 6em, 3em ©]1 4

217(cm?)




19. the I AT RO Yol (I, 2 A9 A2 ABY Lol

24cm O]t )
AN
Y
@ (607 - 100)cm? @ (60 — 121)cm?
® (60r — 144)cm? @ (727 - 121)cm?

(@)(727T - 144)cm?

AASH Y] BHEO yol=Zron g g HHOl WolE JLslH
1 1
ﬂx122xZ—Qan62xZ—6x6:1871—36

24X (187 — 36) = 727 — 144(cm?)
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O™-NA za+ b+ zc--- = 360° O] 22 S+ uF 7AekS o, Lo
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2% 5% 16+ 27 x5 = 160 + 107(cm)




